Bapuaut b1
1

Beraucaunre;

a) —12,5 - (—0,08);
0) 392:(-2,8);

Pemure ypaBHeHUA:

B) —2z-0,6;
9
r) —§:(—li).
7 14
(2]
x-1 -7
a) = ;
7,2 5,1

6) 3 .r—le1 +1]‘—=—3,5.
3 6

©

BapumaunTt b2

a) —2,9 - (—0,04);
0) —338:2,6;

4
3—-(-1,4);
B) 3--(-14)

Haianrte 3HaueHnHe BLIpAKeHHA:

2
a) [-12] - (-0,625)+12;
3 3

0) —14,4:0,18 —

- 0,85:(0,63 — 0,8).

a) (-1%) -(—0,72)—2%;

0) —21,6:(-0,12) +

+ 0,96:(0,89 —1,13).



Bapuant b 1

(1.] a) —12,5-(—0,08) = 1;
6) 392 : (—2,8) = —140;
T 25 3 5 _ 2.
3 . 1 3 .15 _ 3 14 _ 2
2.] a ’:‘r——; — # 51(x—1)=-1,7-7,2; 51z — 51 =
= —1224; 51z = —12,24 +5,1; 5,1z = —7,14; z =
=—7,14:51 = —14;
6)3(z-44) + 14 = -35 3(a- ) = -3} —1};
3z-183=-33-1}; 30 =4} +13; s =9- %
— 27 2. - . 7. - T
3$—?—§,$——3‘-3,$ = 2@'.

3.] a) (—1%)2 - (—0,625) + 15 = (_%)2. (_%) +11 = 16«

5 1 __ 10 4 _ _ 10 12 __ 2.
(-3)+1y=-0sg=-t 223

6) —14,4 : 0,18 — 0,85 : (0,63 —0,8) = —80 — 0,85 :
: (—=0,17) = —80 + 5 = —75.



Bapuaur b 2

[1.] a) =2,5- (—0,04) = 0,1;
6) —-338 : 2,6 = —130;
B)sé'(—l4)=—ﬁ'}—4=—%ﬁ'-
3

3 ,2?’_
r) =4y : (hﬂ) =22~ 11°
2] a) 25 =35 24(z+ 1) =-18-84; z+ 1= -2,
r+1=-63, z=-63-1, ¢z =-73,
6)2(x+1%)—2%_1,5,2(x+5)—11+2 2z+% =
=13+2% 20 =33 -1; 20 =33 -2}; 2z =32 - 2%,
20 =13 2c=1}; 2 =3
3. a) (—12) -(—0,72)—2%:(—5) -(~0,72) — 21 = Bx
x (-0,72) —21 = - 232 _ol = _25.0,08 - 21 =
=—2-21=—-43;
6) —21,6 : (—0,12) + 0,96 : (0,89 — 1,13) = 180 + 0,96 :
: (—0,24) = 180 — 4 = 176.

!—:-lz—-l; la| = —a; —a > 0; a < 0. a # 0 Tak KaK
3HaMeHaTeslb obpallaeTcs B HOJb.
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